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1’. The qu'antitati&e definition of force can
-be obtained from which of the
Newton’s laws of motion ?
(A 1% law
(B) 2" law
(C) 3¥law

(D) None of the laws

2. A body of mass 5 kg moving with

“velocity 2 m/s comes to rest withina' -
distance of 6 m. The work done during -

the processis:
(A 104
(B) 15J.
(C) 20 erg
i (D) 30erg

3. Aventuri meter works onthe p'rinéivpl'éf |

of::. 0"
(A) Newton's law -
(B) Joule’é law
(&) Pascal’siaw-

| (D) Bernoulli's law

' _'14_ In a dynamo the transfo’rmat!on of .

energy is:

" (A) From mechanical to electrical

(B) From'e‘lectricallto _mec‘:hani,cal‘,‘ |

(C) From chemicalto electrical

(D) Fromelectricaltothermal =~ .

. OD-2D/M2

- (2)
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5. Ohm's law is applicable to a ;

(A) Semiconductor

(B) Superconductor

(&) Metallic Conductor

(D) Junctiondiode

A body of mass 2 kg and electrical
charge 5C is moved through a

potential difference of 6 V. The energy

‘ . ‘_gained by the body is :
& () 60S:
(B 30
" (€) 300erg
(D) 600erg

‘7. Lenz's law of electromagnetic

inductic_i‘n is. consistent. with the
conservationof: '

(A) Mass

{B)"Charge._*
~ (C) Momentum |
(D) Energy
i The velocity of. sound in air at STPis

'nneadyi

(A) 100m/s
(B) 300m/s
(C) 500 m/s |
(D), B00MYS.. i1-5 i v o i

Contd.” - g
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9.

In Young's double slit experiment, if

the separation between the slits is

doubled (withinthe aneIength range),

' then the fringe width is :

10.

At

(A) Unchanged

(B) Halved

(C) Doubled

(D) Noné of thé ébove

If the temperature of a black body is

doubled, then its radia_nt emittance

becomes :
(A) Same as original value
(B) Twice of the original value

(C) Fourtimes the original value

(D) Sixteen times the original value

If Mg atom having atomic no. 12 has
an isotope of mass no. 26, then the
no. of p‘roton, neutron and eI'e}ctrc‘)n

respectively are

(A) 12,12, 14

- (B) 12,14, 12

12.
~ (A) CO,CN",NO*,C5" s

OD-2D/12

() 14,12,12
(D) 12,12,12

Iso-electronic species are :

(B) CO™,CN,NO,C;
(G) €0*,cof,NOt, €57 .
(D) CO,CN,NO,C,

GET IT ON
Google Play

13. How Imany o and  bonds are present |

14,

in CaC, ?

(A) 20,nom

(B) 30, 2n

(C) 20,2n

(D)-3a,"1n .

Which of the following has maximum
no. of unpaired electrons ?

(A) Mg**

| T

' (C) V3t

(D) Fe?*

" 15.

" 16.

'Whiéh one of the following oé(ides is

neutral ?-

(A) €O

() Sn0,
8 (C) ZnO - :

(D) Sio,

e NG
N;H is represented as " /N—H :
| . N: 2

' 'Nitrog'en attached with double bonds

has oxidation number :
@0

(B) +3

©).-2

(D) -3

(TUm o_ver‘)
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17. 2MNOj + aH* + bH,0, — oMn?* + 21. Which of the following is responsible
'cH,0+d0, for modifying and Packaging of

What are the values of a, b, ¢, and d proteins and lipids ?

bos - Tespectively ? " “aifiy (A) Mitochondria
‘ B) Golgi Complex -

(A) 3,545 - ( |
(B) 6,5,8,5 s (C) Endoplasmic Reticulum
3 (C) 3,1,4,1 (D) Peroxisome
| S R I ~+ 22, Whichofthe following Vitaminsisnot
18 Reduction of thiosulfate wfth iodine . obtairied from plants ? '
gives: o R - (_A)" Thiamine
() Sufateion  (B) Pyridoxin’ -
(B) Sulfteion " V A © Cyano_coba_lamine
(C) Tetrathibnate'ion 3 y 2 : (D Riboflavin . e
(D) Sulfide ion | L In:Pterido"phytes: development of
19. The mdlcator used in lodometrlc e -sporophyiefrom gametophytictissue
: ,V"'tltratlon isllR. -] EEEhat mvolvnng gamet»c fusion is-
i | | w P § ,_-,knownas ' ’ '

" (A) Phenolphthalein ’ :
" (B) Methylorange A Apospory
(C) Starch v . -(B) Parthenocarpy

(D) Litmus _ (C) Heterospory

7 ' < R D) Apogamy
~20. For the équation NO3 +4H" +e - - (D) Apogamy | |
2H,0+ NO. The'no..olfel'ectrons in its - 24. The fungus commonly known g

 palanced formwouldbe: - Baker's Yeasts:
TShnt e {0 R ? C® Saccharomyces octosporus
(B) 4-  ' . A ‘(B)" Saccharomyces' cerévisial -
e (C) B b ‘. . Ly (C) Saccharomyces Iuduw;gu A
Oy e SRR @ Alloftheabove |
OD=2D/12 sy KL 4 1o A e AT Conid
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25.

e

The plant that commonly known as

horse tail is :
(A) Equisetum '
(B) Marsilea
(C) Selaginella

(D) Pteris

26.

Whi_ch of the following is not an

inexhaustible resource ?

(A) Sunlight

~(B) Wind

w97,

(C) Tidalenergy
(D) .Coal

Normally "the endosperm "in

angiospermis:

(A) Diploid
(B) Haploid

~(C) Triploid

.28,

(D) Hexavploi‘d- e

Which of the‘followihg is an essential

. fattyacid ?
- (A) PalmiticAcid

(B) LinoleicAcid. .

- (C) Acetic Acid
(D) Citric Acid

29.

' The type of energy obféined from hot

springs is :

(A) Geothermal energy

; (B) Solarenérgy s 20 '

© OD-20/12

GETITON
Google Play

(C) Tidal energy
(D) Hydro energy

30, Which of the following is not a viral

31.

disease ?

(A) Measles

" (B) Hepatitis -

(C) Rubella

(D) Leprosy.

Zooplanktons are : '

(A) Producers

. (B) P’rim‘ary Consumers

' (C)=_SecondaryConsumer3‘

pors2.

(D) . Decomposers

Which of the following is a non —

symbiotic nitrogen fixing aerobic

" bacteria ?

(A) Clostridium -

(B) Frankia

(C) Azotobacter

(D) Rhizobium

33.

Minamata.disease was caused in -

Japandue to the poisoning of : -

. (A) Arsenic

(B) Nickel

- (C) Lead

(D) Mercury :

- (Tumover )
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35.

How many teeth grow only once inthe "

life of a human being ?
(A) 8

(B) 12

(C) 20

(D) 32

Which is not a part of alimentary
canal ?

(A Jejunum

36.

' Deficiency of which hormone caus{és

(B) Ilium
(C) Gizzard
(D) Crop

i

" diuresis ?

(A) Oxytocin
(B) Relaxin

: (C) Renin o ..- |

38.

OD - 2D/12

(D) Vasopressin |

- 30,

GET IT ON
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(C) Scutes
(D) Vernix

During inspiration in mammajs the

diaphragm :
(A) .Expands
(B) Contracts

(C) Relaxes

(D) Shows no change .

40. -The statement “Eaiing on the same

41,

The clinical term for severe frequent -

cramping during menstruation s : -
(A) Aﬁenorrhea ;
(B) Ménorfhagia

(C) Oligomenoﬁhea

(D) Dysmenorrhea

The coating of fine hairs on the body .

of human foetusis called: .
(A) Lanugo
(B) Fur

table” is true for: *

(A);'Amensalism

(B) Mutualism

~(C) Parasitism

(D) Commensélism

A rational number % q# 0) can be

- expressed as a terminating decimal,

" . ifthe prime factdrization of qis of the

~ form:

~ (A) 2™3"(m and n are non-negative

77 i

_integers) _
(B). 2™5"(m and n are non-negative
integers) | '
(C) 3™5" (m and n ae non-negative

integers)

. (D) §™7"(m and nare nqn-negafive

integers)

Contd.
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42.

43,

The difference between the two
numbers is 1365. On dividing the

larger number by the smaller, we get

6 as quotientand 15 as the remainder.

Which one of the following is the

smaller number ?
(A) 360
(B). 295
(C) 270

(D) 240

What is the number of proper SUbsefs

ofthesetPuQ where P = {1 2, 5 7}' '

and Q=1{2, 4, 6}'?

& ‘(A) 31

44,

45,

(B) 63
(C) 64

- (D) 127

If the set P contalns 5 elements andv 5 '.
the set Q contalns 6 elements, then | ‘
: ‘what is the ﬁ'umber of one—ohe’l and - '}, ;

' onto functions from P to Q7 '

A) 720
(B) 120
(C) 30 -

_(D) 0

How many equivalence relatlons can

‘bedefnedonthesetS {1 9 3}7

(B) 5 ,
'OD -2D/12

46.

47.

GET IT ON
Google Play

(CY7 s .
(D)8 :
Su‘resh, Dinesh and Ramesh became

partners in a business by investing
money in the ratio 3 : 6 : 8. If their

" investments are increased by 5%,

" 15% and 20% respectively, then what

will be the ratio of their profits in one
year ? ¥

(A) 7:46:64

(B) 19:46:64 °

(C) 21:46:64

(D) 35:46:64

['n'a_ bag, there are coins of 5- ps,
10ps and 25 psin the ratio 3: 2 : 1. If

all the coins in the bag amounts to

Rs. 60. 00, then how many 5 ps coins
arethere? -

(A) 100

(B) 200 .

(C) 300

. (D) 400

a8,

If log, y = 100 and log, x = 10, then
whatis the value ofy? =

®) 2.

(B) 210

(C). 2150

; (D) —21000 _

(Tum over)
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S B a4C) 5
49. What is the value of (256)01 i 1
. (268)%0%% o

| (A) 256.25 53. If Sisthe set of all distinct numbeyg
:i“ B ¢ & i\l I . ' . '
1 (B) 64_ the form P—,, where p, q € {1, 2 4
(C) 16 e %
| (D) 4 4,5, 6}, then what is the total Number

10

(D)

51.

(©

Iftan 0 = 3forsome()(0<ﬂ<90 )

then whatis the value ofsin 0 ?

{A)

(B)

ah aje aln o=

Iflog3(x —x) loga(x 1) 3thenf‘,_"

. whatis the value of X '?

®» 9

”_'(B) :
(€G3

D)1

52,

, What is the value of the express|on
’sm (1 ) + sin (11 ) + sin (21 ) +.

LB5

. ;sm (31 ) + sin (41 ) + sin (45°) +

sin®(49°%) + sin?(59°) + sin (590) bt

~ . sin 2(79° + sin? (89°)?
v AR 4
(B) 42

oD 2D/12

AN

of elementsinS ?

(A 21
(®).23

(C). 32

(D).36

The angle of elevation of a ladder .

: .'__‘Ie_aning against awallis 60° Ifthefoot

of the ladder is 4.6 m away from the

- wall, then what s the length / heighfpf

¢ V‘the. ladder ? .
(AP Sl |

B)47m -

) 78m

If one of the roots of the equation

3x2 + px + 3= -0 (p > 0) is the square :

of the other root then what is the value

: ofp’)

Ay
@1

D) 4

(8) 7

©F

S contd
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56. What is the remainder when the
polynomial x2%° + 1 is divided by
x2+17?

(A x%-1
(B) 2x+1
(C)2
(D) -1

.57, If the. system of linear equations

Sx+my=10and4x+ny=8(m, n are
~ positive integers) have infinitely man'yl
solutions, then the minimum possible
~valueof(m+n)is: . »
A) 11
(B) 9
(C) 7
. D5

22 cm. [fthe W|re is rebent to fon'n a
circle, then its radius will be ? ¥

22\
(Use ) 7)

A) 22cm.
- (B) 14cm..
(C) 11cm.
.(D) TCm
59. Whlch one of the foilowing is an

obtuse'angle ?

: 1"
’ (A) of a nght angle

: oo;zomz-‘

GET IT ON
Google Play

i gy _

(B) 20 of a complete rotation
11

(C) 21 of a complete rotation

(D) of arightangle

60, PQR is a right angled triangle right

angled atQwith PQ =6 cm.and QR =
8 cm. What is the radius of the circle
with_ center at O inscribed inside the

- triangle PQR ?

(A) 4cm.
(B 3cm.
(C) 2cm.

@ 1cem

_ ' " Readthe ﬁas_sageicé’refully and answer
58. AW|re is bent to forma square of side- ~the d"?#innS (Q. Nos. 61 to 64)
: »chqosl_‘ng the c_drrect'a[temative i '
_ These days our world seems to be in the

- grip of $peed. Everyone is in a great hurry

to reach somewhere ; God knows where

~and why. Out on the roads, fast moving

vehicles are driven faster: pedestnans also

appear to be running mstead of walkmg

:queue orno que_ue ; h_efty people push their o
‘way through the crowd. injuring or hurting

women, old people or even small children,

- Doctors, lawyers, and eVeh'shbpkeepérs

are in such a hurry that they have no time

tollisten to anyone patieqtly.' People have

(Tumover)
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‘notime even to have their food peacefully |
athome and so ‘superfast food joints have
sprung up. No surprise then that so many
sufferfrom hypertension or heart diseases.
Even nature seems to have joined this
race. Years, months, weeks and days
seem S|mply to fly away as if to take
mankmd faster to the new Century
promising a brighter and happier era.

. 81. Whodon't care for others while walking

through the crowd ?
(A) Small children
(B) Oldmen |

| (C) Youngwomen
(D) Heftypeople .

62 How do pedestrians look like on the -

% road:? 4 ok N
(A) Walking
: (B) Jogg'injg'
. (C) Running -
~* (D) Gliding s

63 Why have superfast’ foods become 2
4 “popular ? |
(A) People have no tlme to have thelr
food peacefully at home
(B) People have no tlme to cook food )
(C) People don’ twant to Cook food

(D) People don't like food Cooked at
s:home. ..

GET IT ON
Google Play

1 64, What, according to the author, does

the new Century seem to promise ?

~ (A) Alife of comfort

(B) An era of hypertension or heart
| diseases [

(C) Abrighter and happiertime

(D) Long and noble life

~ Answer the qi;estions (Q. NQS; 650 70)

choosing the correct alternative :

 65. The word which means the same as

- peacefulis: -

@) Noisy

. (B) Wid
f(C\)" Restless

S (D)C Calm

,The word opposnte in meamng to ‘Bold’

st

2 (A) ‘Brave .

.18, 'Onev\./ho cannot read and write-'i-s: ‘

" - (B) Daring
- {C) Timid

(D) Fatal - -'

(A) Tlegible

(®) Tliterate ~

- (C) Tlegal

TODAEDN2 T e oy

(D) Tlicit

~ Contd. ‘
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68.

69.

e

One should "do . 5. duty
sincerely. '

Pick out the correct word to complete
the sentence : '

(A) his
(B) her
(C) their
(D) one's

As soon as the siren blew, the firemen

dashed towards their vehicle. This
sentence can be rewntten using ‘No g

sooner as

(A) No sooner the siren blew, the '
firemen dashed towards thelr,'

vehicle.

(B) Nosoonerthe S|ren blew than the;
firemen dashed towards thelr., '

vehicle.

(C) No sooner did the siren blow than .
the firemen dashed towards their |

vehicle. -

-(D) “No sooner than the siren blew the

ﬁremen dashed towards thelr

vehlc!e

The workers are not to be.blamed for

the loss. The supervisor is also not to

be of blamed for the loss. Combining

these two sentences into a single

sentence using ‘Neither ... nor'we get

. (A) Neither the workers nor the -

superwsor |s blamed for the Ioss

=

OD-2D/M12.

GET IT ON
Google Play

(B) Neither the workers nor the

supervisoris to be blamed for the
loss.
(C) Neither the workers nor the
- supervisor are to be blamed for
the loss. '
(D) Neither the workers nor the
supervisor are blamed for.the

loss.

1. “The Origin of'Life',’ book‘was_written

by :.
(A) Charles Darwin
(B) A.l.Oparin -

H(E) G J. Mendel :

(D) Lours Pasteur

12, World Malaria Day is observed on:
. (A) 25! January ;
(B) 25t March

(C) 25" April
(D) 15! December

73. In terms of event and year of occurrence

|dent|fy the wrong pair:

A) Foundatlon of C.S.I.LR.: 1942

- (B) Demonetlsatuon of Indian

Currency notes : 2015
(C) Implementation of G.S.T. ;2017 °
(D) Removal of Article 370 : 2019

(Tum over )
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74,

75.

A

Fa §

Name the Union Minister for Science
-and Technology is :

(A) AswiniVaishnav .

(B) Nitin Gadkari

(C) Jitendra Singh

(D) Piyush Goel

On.which day the Constituent
Assembly its
functioning ? Y

(A) g December, 1946

B) 26t January,.19"47 '

(C) 15thAugust; 1947.

(D) 9" December, 1947

commenced

Which country is not a part of Troika

of G-20 Summit to be held in 2023 ?:

(A) Brazil
(B) Indonesia
(C) India

(D) ltaly

situated ?
(A) New Delhi

- (B) Bangalore -

(C) Mumbai :

" (D) Kolkata

OD-2D/12

78,

In which of the followmg cmes is NAAC" ,

81, Ifthe sequence of the letters in EngllSh

Who was associated with laying down,

‘minimum levels of Iearmng at

* elementary stage ?

* (A) Prof. RH.Dave

GET IT ON
Google Play

(B) Prof. Yashpal
(C) .Prof. Ved Prakash

(D) Acharya Ramamurthy

Which of the following Commissjgng

recommended for establishment of

U.G.C.inIndia?

. (C) University

(A) Indian University Commissjop
(1902) -

(B) Calcutta University Commissjon

(1917) |
: Education
Commission (1948-49)

(D) Mudaliar Commission (1952-53)

~ 80.

The middle stage of education as per

~ N.E.P-2020 covers which age group

~of students ?

(A) Ages 8'te’10 |

(B) Ages 9to 11

(C) Ages 10t0 12

- (D) "Ag'esr11 to 14 :

. would be the 1oth
! Ietter from.nght ?
™ u -

Alphabet IS reversed, which letter

Ietter after the Sth

(B) L

(C) K

'(‘12i'

- Contd.
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82. If ‘CAT and 'BOAT" are written a5 8. Indrais 7" from the left and Jaya is
XZG' and ‘'YLZG' respectively in a 5" from the right. When they

code language, how is ‘EGG' to be interchange their positions, Jaya

itten in the same lang
written inthe s anguage 7 becomes 19" from the right. What is

(A) VSS 'Indra’s position from left ?
B) URR .
(B) A) 21%
(C) VTT -,
(B) 19
(D) UFF i th
' : (C) 20
the following questi
83. In the gq on, one (D) 23

statement is followed by two
arguments.Find the correct answer - 86. If'BAT'is coded as 283, CAT is coded

from the given alternatives : - ' as 383, ARE is coded as 801, then
Statement: ‘Nudity be shown in . the code for BETTER'is :
’ , Indian Films’'. 7 (A) 213310
Argu_meqts: (a) ‘It is bging shown all _ e ®) 213301'
over the world. ol -
(b) It will' damage thes  (C) 012334
moral fibre Aofvlndian ; (D) 123301

Society.

: : 87. If- sellmg price is doubled the profit
(A) Only statement(a)is strong. .

: tnples. Find the profit percent.
- (B) Only statement(b) IS strong | ’

e (b) - (A) 66.6
(C) Neither argument(a) nor IS - _ ‘
strong. 4 (B) 100
(D) Both arguments(a) and (b) are. i (C) 105.3 |
- strong. : et - (D)M20

84. Nagais taller,tha'n Puspa, but not as. 88. If the 7th_ day of a month is 3 days
tall as Manu. Ramais taller than Nita,  earlier than Friday, what day willitbe
but not as tall as Puspa. Who among
themistallest? - '

~ onthe 19" day of the month ?

_ _ (A) Sunday
‘ - (A) - Manu ;
E (B) Monday
P (B) Puspa A . e B
 fee (C).Naga' | : - (C) Wednesday
: (D) Rama | g : (D) Friday
. OD=2D/12 ' - (13)

(s v
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89.

90.

247

In how many ways you can post 3
Ietters in4 letterboxes ?

(A) 68
(B) 64
(C) 81
(D) 12

What least number must oe added to
1056 so that the sum is completely
divisible by 2, 3and 5 ?

@) 24 |

(B) 18

 (C) 48

o1

(D) 56

Development of which of the following

abilities in human beings is facilitated
by brainstorming ?

(A) Positive thinking -
(B) DiVergentthi‘nkrng Al
(C) Convergentfhinking"

| (D) Active thinking -

2.

‘An e'xpl‘anation involves giving : -

_ (A) Antecedents toasubsequent

© 93. A student is solving a probler in

(B) Consequences to an antecedent
(C) Antecedents toa consequence

(D) rConseduences' toa sﬂbsequent

‘Mathematlcs What is helshe

contributing to ?

A (A) Affectrve Iearnmg

OD

]

2D/12

GET IT ON
Google Play

(B) Cognitive learning- .

(C) Conative learning -

(D) Psychomotor learning

94. Which of the following is not a

characteristic of teaching profession ?
(A) Social Service

(B) Skills

~ (C) Althority

95-

(D) Organization

:Which Strategy is best applicable for

teachrng ‘skill of asklng questrons to_

>students ?

A Pers_oneliz'ed”

g _'96.-»Student-centrrc classroom is meant_

~for:

sYstem of
f instruction - |

(B) Programmed rnstrUCtron 3

s (§) Srmulatron E

(D) Mrcroteachlng " "

: (A) Addressing individual differences

(B Engagrng the students of the

- (D)

(14). :

. entire class

(C) Helping students to recall thelr '

prevrous knowledge

Reducing the teacher-oriented
lectures _

vv Contd.
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g7. During presentation in a classroom, a (C) You will consider it as a case of
teacher gives a lot of positive anq’ indiscipline and report it to his/ her
parents '

negative examples. This is related to
~ (D) You will answer the questnon after

which level of learning ? AR /

- ‘ L A the class.

(A) Reflective level ol o : _ .
99. ‘Spare the rod and spoil the child’ gives

(B) Understandinglevel | | . the message that:

() Mémory level " (A) Undesirable behaviour should be
. | T _ punlshed
-+ (D) FAIONOMILS developmeht level - w5 (B) The-teacher is frlendly to the

' 98.-Suppose you are teachinQ a topic in students.

: (C) ltisan activity-centred ¢ class. }
. theclass andastudentasksaquestnon'"
v ady (D) There is more freedom and 1
unrelated o the fopte: What ik you ;: X ﬂexublhty in classroom teachmg ' >
do? AR ¢
- | TS 100 C. I E T stands for:
(A) YOU will encourage him to ask; | - (A) Centre for Integrated Educatlon
such questlons to develop : andTechnologY ; ‘
fearlessness in th % stu d ent (B) Central Institute for Englneermg
i andTechnoIogy
(B): You w1ll disallow him t° ask SUCh (C) Central Instltute of Educatlonal -y
questlons so as to save time for-_' "“ Technology ) o
dISCUSSIOn on toplc related (D) Centreforlntegrated Evaluatlon’ N
% - Techniques
* questions. . ’
IIIII"III'-':-!’--.‘,.
2 '_/
. op-20/12 - (18) /7 (Tumover) - e
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